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1. (9 points) It takes 208.4 kJ of energy to remove 1 mole of electrons from an atom on the surface of rubidium metal.  How much energy does it take to remove a single electron from an atom on the surface of solid rubidium?  
What is the maximum wavelength of light capable of removing 1 electron from a rubidium atom?  
What is the frequency of this light?
2. (6 points) Write the ground state electronic configuration (use shorthand notation) for Pr and give a possible set of quantum numbers for each of the electrons in the 4f, 5d, and 6s sublevels.
3. (3 points) The periodic table consists of four blocks of elements which correspond to s, p, d, and f orbitals being filled.  After f orbitals come g and h orbitals.  In theory, if a g block and an h block of elements existed, how long would the rows of g and h elements be in this theoretical periodic table?

4. (2 points) What does the Pauli Exclusion Principle tell us?
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1. (9 points) It takes 279.7 kJ of energy to remove 1 mole of electrons from an atom on the surface of lithium metal.  How much energy does it take to remove a single electron from an atom on the surface of solid lithium?  

What is the maximum wavelength of light capable of removing 1 electron from a lithium atom?  

What is the frequency of this light?

2. (6 points) Write the ground state electronic configuration (use shorthand notation) for Nd and give a possible set of quantum numbers for each of the electrons in the 4f, 5d, and 6s sublevels.

3. (3 points) The periodic table consists of four blocks of elements which correspond to s, p, d, and f orbitals being filled.  After f orbitals come g and h orbitals.  In theory, if a g block and an h block of elements existed, how long would the rows of g and h elements be in this theoretical periodic table?

4. (2 points) What does the Pauli Exclusion Principle tell us?
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1. (9 points) It takes 208.4 kJ of energy to remove 1 mole of electrons from an atom on the surface of rubidium metal.  How much energy does it take to remove a single electron from an atom on the surface of solid rubidium?  

What is the maximum wavelength of light capable of removing 1 electron from a rubidium atom?  

What is the frequency of this light?

2. (6 points) Write the ground state electronic configuration (use shorthand notation) for Eu.  Do you expect that there might be an anomalous configuration for this element?  If so, what do you predict and why?
3. (3 points) The following set of quantum numbers is incorrect.  Tell what is wrong and give a possible change to make it correct.
n = 5, l = -4, ml = 2, and ms = -½

4. (2 points) What is meant by the term isoelectronic?
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1. (9 points) It takes 279.7 kJ of energy to remove 1 mole of electrons from an atom on the surface of lithium metal.  How much energy does it take to remove a single electron from an atom on the surface of solid lithium?  

What is the maximum wavelength of light capable of removing 1 electron from a lithium atom?  

What is the frequency of this light?

2. (6 points) Write the ground state electronic configuration (use shorthand notation) for Eu.  Do you expect that there might be an anomalous configuration for this element?  If so, what do you predict and why?

3. (3 points) The following set of quantum numbers is incorrect.  Tell what is wrong and give a possible change to make it correct.

n = 3, l = 1, ml = 2, and ms = -½

4. (2 points) What is meant by the term isoelectronic?
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